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HET1TIEGT H39T 1 S TIaeH] & 91T 3R 377 G&d] & 9ic Hilag
(i) 39 5v7-97 4 38 F97 & | @I FT SHHaTH & |

(i) TEY¥-97 Qi @USl 7 [QAyif5a 8 — &, @, W, 90a & /

(iii) @UE & § 7 qeql 18 18 T Fglasedid (MCQ) ol Jv7 &&q1 19 T 20
SIfIFHYT TT T TERT 1 3% F J97 3 |

(iv) @U@ H ¥97 g&I121 @ 25 7% 3717 TG-FH1T (VSA) JPR 3 2 37H & J97 & |
(v) TUE T H ¥9T G&IT 26 T 31 7% TY-FTH1T (SA) JHR & 3 37 & Fo7 & |
(vi) TS T F 97 G&I1 32 @ 35 T G-3RI (LA) IR & 5 3H & 97 8 |

(vii) U & 4 Y97 G&JT 36 @ 38 Tb JHU 37eTT7 ERT 4 37H] & J97 & | Icds
JHIT 37eTT 7 STaRF [dhcqd 2 371 & J97 8 1297 77 & |

(viii) ¥97-97 § GHY [dHeq 787 137 731 8 | JEfT, @vS @ & 2 Yul H, @US 7 & 2 ¥l
4, @8 g &2 Yo 4 a91 @S & & 3 Yo7 B IaRF ldhcq &1 JaerT 1731 77

g/

(ix) & STTvIH &1 L= Pl G9I5T | gl avTH & 1 = % g, atq F=reT
7 13971 T 81 |
(x)  Dopaie & ITINT a8 |

@usg <h

39 @I H Fglascdid 397 (MCQ) 8, 574 Jcde J97 1 37 %7 & | 20x1=20
1. aﬁsin6=1%,ﬁ%sin(gjwqﬂ%:

(A) (B)

DO
Q‘r—l
(\V]

1
V2
0

©) (D)

DO | =

2. T 39 T & YUl JEN SR AT 3Heh! 5T o o1 oh s{1<l 1 UM &
(A 2m:1 (B) 4mn:1
(C) 3m:1 (D) 1:4=n
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take © = 3 wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

1.

If sin 6 = 1, then the value of % sin (gj 1S :

1 1
A S B —
W 57 ® 5
1
(C) 0 D) 0

The ratio of total surface area of a solid hemisphere to the square of its
radius is :

(A 2m:1 B) 4m:1
C) 3m:1 (D) 1:4=n

14-30/4/2 P.T.O.
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& TS AR H, QSAWWW%G el G gl Sl Ueh IWAME Tl @
QR ? | fog A W i< T Tosit@r QR # P W et B | fg AP = 42 em
g, a1 QR I TS B

(A) 4-2cm (B) 2:-1cm

(©C) 84 cm (D) 6:3cm

e @ TS MHld H, L C = 2D =90° £ B =60°aa AP = 3 cm g, dl
BHIfRd W T STHA 3

C B
= 60°

-
D

(A)  3mcm? (B) 6mcm?

(C) 7mcm? (D) 91 cm?

e 6,7,p,8,q,14 H AT 9 7, I

(A) p-q=19 B) p+q=19

(C) p-q=21 D) p+qg=21

fea @ forelt @7, T HHAR A1 BRI I TR THR! S5 oh SR il & | dl
39 9T g 1 AT @

(A)  30° (B) 45°

(C) 60° (D)  90°

14-30/4/2
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3. In the given figure, QR is a common tangent to the two given circles
touching externally at A. The tangent at A meets QR at P. If AP = 4-2 cm,

then the length of QR is :

(A) 42cm B) 21cm
(C) 84cm (D) 6:3cm

4. If in the given figure, « C = £ D =90°, Z B = 60° and AP = 3 cm, then the
area of the shaded region is :
C B
= 60°

-
D Pe——
3 cm
(A)  3mem? (B) 6m cm?
(C)  7m cm? (D) 97 cm?

5. If the mean of 6, 7, p, 8, q, 14 is 9, then
(A) p-q=19 B) p+q=19
(C) p-q=21 D) p+qg=21

6. At some time of the day, the length of the shadow of a tower is equal to
its height. Then, the Sun’s altitude at that time is :

(A 30° (B) 45°
(C) 60° (D) 90°

14-30/4/2 P.T.O.
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11.

12.

EiE
e

aﬁaﬁﬁ@aﬂﬂﬁﬁaW%OWﬁWﬁHW%aﬁwwﬁmﬁ
qAT 3 I Ry H I @

A 2:3 B) 1:4

C) 4:1 D) 1:3

Ife ax+by=a2-b2 AT bx+ay=0 &, dAl x+yHl A 2 :
(A) a2-Db? B) a+b
(C) a-b (D) a?+ b2

@ T AHfd H, AB TIT AC TH g9 W T g TEI@N 7 | AR
ZABC =42°%, d « BAC &l A9 7 :
B

(A) 96° (B) 42

(C) 106° (D) 86°

e fouma gitertor 8x2 — 2x + ¢ = 0 o1 fafoPet 16 8, A c HT AF B :
A 1 B) 0

© -1 D) 2

Tsh i Tqs ABCD & o Sfi¥ A(- 2, 3), B(6, 7) @1 C(8, 3) &, i 3&ehl
IS D B

A (0,1 B) (©O,-1)

) (1,0 (D) (1,0

T UTHl okl Teh 919 3IDTAT T | <41 9 W fauw 9&amd ured 814 <Al ITi¥esd 3 -
6 3

(A) 26 (B) 36
12 9

©) 36 (D) 36

14-30/4/2
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If an arc subtends an angle of 90° at the centre of a circle, then the ratio
of its length to the circumference of the circle is :

(A 2:3 B) 1:4

C) 4:1 MD) 1:3

If ax + by = a2 —b2 and bx + ay =0, then the value of x +y is:
(A)  aZ-—Db? (B) a+b

(C) a-b>b (D) aZ+b?

In the given figure, AB and AC are tangents to the circle. If £ ABC = 42°,
then the measure of Z BAC is:

B

(A  96° (B) 42°
(C) 106° (D) 86°

If the discriminant of the quadratic equation 3x2—2x + ¢ =0 is 16, then
the value of c is :

@ 1 B) 0
© -1 D) 2

The fourth vertex D of a parallelogram ABCD whose three vertices are
A(-2, 3), B(6, 7) and C(8, 3) is :

A (O, B) (©0,-1)
€ 1,0 (D) (1,0

Two dice are tossed simultaneously. The probability of getting odd
numbers on both the dice is :

6 3
(A) 26 (B) 36

12 9
(C) 36 (D) 36



13.

14.

15.

16.

17.

18.

mfgm
(O]

& E T WY WER THE B | T W Teh W7 T THIR 5x — 3y =2 & | I

SE0 T 1 GHIHT B Gkl B
(A) —-15x-9y=5 (B) 15x+9y=5
(C) 9x-15y=6 (D) -—-15x+9y=5

T A ABCH, DE || BC g (341 fo6 3tehfa o gurian 7= 8) | 9f¢ AD = 4 cm,
AB=9cmH94TAC=13-5cm%,?ﬁEC@FWI?%:

(A) 6cm (B) 7-5cm
(C) 9cm (D) 5-7cm

¥eg “MOBILE” & 318 H ¥ ATgesdl Th & A1 11 | g4 g HEW % Th
T (vowel) B hT ATRIehdT B :

(A) (B)

| ~3|w
Wl o+

(C) (D)
Ife 3825 =35 x5V x 1728, A x+y—2z ST A & :
A O B) 1
C 2 D) 3

U fgurd wgue, e Tk S 2 + V5 2 qu1 e el 1 anTwd 4 g,
7

(A) x2+4x-1 B) x2-4x-1

C) x2-4x+1 (D) x2+4x+1

Th AP. H UM A 9C shU: 3p—1, 3p+5, bp+1 &, Al p T AF B :
A 2 B -3
(C) 4 D) 5

14-30/4/2
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13. Two lines are given to be parallel. The equation of one of these lines is
5x — 3y = 2. The equation of the second line can be :

(A) -15x-9y=5 (B) 15x+9y=5
C) 9x-15y=6 D) -15x+9y=5

14. In A ABC, DE || BC (as shown in the figure). If AD =4 cm, AB = 9 cm
and AC = 13-5 cm, then the length of EC is :

(A) 6cm (B) 7-5cm
(C) 9cm (D) 5-7cm

15. From the letters of the word “MOBILE”, a letter is selected at random.
The probability that the selected letter is a vowel, is :

(A) (B)

C) (D)

DO ~3|w
Wl O

16. If 3825 =3%x5Y x 177 then the value of x +y— 2z is:
A 0 B) 1
Cc 2 (D) 3

17. A quadratic polynomial, one of whose zeroes is 2 + V5 and the sum of
whose zeroes is 4, is :

(A x2+4x-1 (B) x2-4x-1
C) x2—-4x+1 M) x2+4x+1

18. If the first three terms of an A.P. are 3p — 1, 3p + 5, 5p + 1 respectively;
then the value of p is :

A) 2 B) -3
Cc) 4 D) 5

14-30/4/2 P.T.O.



97 G&IT 19 3K 20 JIFYT TF o MERT F97 8 | @ 97 170 70 & 574 v &1
SYHIT (A) T TR H T% (R) FRT 37f%a 13537 71 8 | 57 3971 & @&l I/ 714 /3¢
77 %131 (A), (B), (C) 3R (D) § & 7% G |
(A) AR (A) 3R Toh (R) GHT Tal & AR T (R), AR (A) i Gl
ST LT 2 |
(B)  3fiehe (A) 31 Gk (R) GHI Hal &, T b (R), AHHA (A) hl €&l
ST TgT w1 2 |
(C) AMheH (A) T& 8, Wrg e (R) TeId & |
(D) 37 (A) A B, T ok (R) T 7 |

19. SWHIT(A): I Th ga Sl IRY 176 cm 7, AN 3Th! BSAT 28 cm 7 |

7% (R) : I I IR = 21 x B
20. SHHEIT(A): Th {@RIUS 1 HeF-fog U 1: 1 AT H fawTiord el 2 |
7% (R) : fag (- 38, k), fgafl (- 5, 4) AT (- 2, 3) =l A I TW@rETE
i 1:2 % Ad § T e g |
TuE @
57 GUE T 37la TG-IRI (VSA) FHR & J97 &, for78 I3l & 2 37 & | 5x2=10

21. (a)

5 cosz 60° + 4 se02 30° — tanz 45°
HH A1d IR : — —
sin“ 30° + sin“ 60°
HAYAT

(b) ﬂﬁsin(A—B):%, cos(A+B)=%; 0<A+B<90°, A>B% dal
/ AT / B A4 shifSlT |

22. @ 7% IR H, A AHK ~ A ABC g | I AK = 8 cm, BC = 3-2 cm @
HK = 6-4 cm 8, 9 AC <l &&T8 F1d <hIfST |

14-30/4/2 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : If the circumference of a circle is 176 cm, then its radius is
28 cm.

Reason (R): Circumference = 27 x radius of a circle.

20. Assertion (A) : Mid-point of a line segment divides the line segment in
the ratio 1: 1.

Reason (R): The ratio in which the point (-3, k) divides the line
segment joining the points (- 5, 4) and (- 2, 3)is 1: 2.

SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10
5 cos? 60° + 4 sec? 30° — tan? 45°

21. (a) Evaluate : 5 5
sin“ 30° + sin“ 60°

OR
(b) If sin(A—B)=%, cos (A +B) = %; 0<A+B<90° A>B;find

Z A and £ B.

22. In the given figure, A AHK ~ A ABC. If AK = 8 cm, BC = 3:2 cm and
HK = 6-4 cm, then find the length of AC.

14-30/4/2 Page 11 P.T.O.
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23. w famrem §, weN X ¥ 4 4 § | vew 4R § 40 fmnefl ¥ w7
T | 48 Toenefl § | 3Rl el AR o 7Y Idehl shl =—Had & 4
hIfoTe 1feh 378 g1 hartedl (Taret) o foamfeit o sRreR-aer sifer 51 9 |

24. (a) U TSl i e archt g5 1 &% 14 ecme | 5 e 4 39 gr w€t &
qd W d &% I shifoT |

AT

(b) 42 cm T3S 9Tct g9 1 3W A9 HI FEE AG HINT A JA b hg T
60° ST FHIVT ARG Ll 3 |

25. @ TE ARG W, O g9 H kg 8 | A £ AOB = 145° &, A x & HE @
HIT |

<

Qug 1

5T GUE 7 T-FTIT (SA) THR & T97 &, 574 Jcd% & 3 37% & [ 6x3=18

26. (a) dF TGl &l Tk 19 IBTAT =T | FET o UTed B4 bl TRkt =1 @ ?

(i)  HH-H-HH Ts fuq
(i) ¥HWET W
(iii)  3Tfrer-B-31fYeh Teh I

AT

14-30/4/2 Page 12
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23. In a school, there are two sections of class X. There are 40 students in the
first section and 48 students in the second section. Determine the
minimum number of books required for their class library so that they

can be distributed equally among students of both sections.

24. (a) The minute hand of a clock is 14 cm long. Find the area on the face

of the clock described by the minute hand in 5 minutes.

OR
(b)  Find the length of the arc of a circle which subtends an angle of 60°

at the centre of the circle of radius 42 cm.

25. In the given figure, O is the centre of the circle. If £~ AOB = 145°, then

find the value of x.

<

SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. (a) Three coins are tossed simultaneously. What is the probability of
getting
(1) at least one head ?
(i1)  exactly two tails ?

(111) at most one tail ?

OR

14-30/4/2 Page 13 P.T.O.



27.

28.

29.

30.

31.

EEE
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(b) Tk U H 90 Teh (discs) &, T W 1 ¥ 90 d T 3Afera & | afe
WU A § T forw AigTedr M San &, A1 $Eehl STRRdT Fd

SHIfSu fop 3@ ferr W 3ifeRa Bhft -
(i) <1 37ehl <h! G&AT ST 40 ¥ A B |
(i) 59 WY 98 =1 S 50 9 &1 3 |

(iii) Tk YU o & |
forg hifsre o e om0 & fura TaiR =S Teaqys 2 2 |

for T 2 B V3w ol e 3, A g i 2—545 e

e 2 |

Ife sinB +cosO=p dAT secO + cosecO=q %,ﬂﬁﬁﬁ;*li\ﬂﬂﬁ
q(p?-1) = 2p.

(a) WEYG 4x2 + 4x — 3 % Y[ TG I TAT IR qAT TGIG o UM
&9 o "ag 6l Jig HIRT |

AT

%P am T
B o

(b) AR o A B 5EIE x2 + x — 2 % YIH @, dl
HITT |

Teh STk 39T Ateptl Ueh TAfyed wif¥es aqq @ IRy star & a1 9fd a9 ueh
fafeera seiat UTea ar 8 | IfE Fiendl o 4 99 o 918 3T dad T 15,000 AT
10 9§ % §T¢ T 18,000 T, A IHRT YRR ddq a1 a1 deradl = off ?

14-30/4/2 Page 14
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(b) A box contains 90 discs which are numbered 1 to 90. If one disc is

drawn at random from the box, find the probability that it bears a :
(1) 2-digit number less than 40.
(i1)  number divisible by 5 and greater than 50.

(iii)  a perfect square number.

Prove that the parallelogram circumscribing a circle is a rhombus.

Prove that is an irrational number, given that +/3 is an irrational

number.

If sin 6 + cos © =p and sec 0 + cosec 6 = q, then prove that

q(p2-1)=2p.

(a) Find the zeroes of the polynomial 4x2 + 4x — 3 and verify the

relationship between zeroes and coefficients of the polynomial.

OR

(b)  If o and P are the zeroes of the polynomial x2 + x — 2, then find the
p

a
value of — + —.
o

A man starts his job with a certain monthly salary and earns a fixed

increment every year. If his salary was ¥ 15,000 after 4 years of service

and ¥ 18,000 after 10 years of service, what was his starting salary and

what was the annual increment ?



39 GV H H-ITIT (LA) YR & I97 &, 578 Jed%b & 5 37 & /

32.

33.

34.

35.

14-30/4/2

(a)

(b)

OO
[CEER

wug ¥

4x5=20

K’ T I8 HIE JTd shitore, foees fore feama aefiston
(k+1)x2-2 @3k +1)x + (8k + 1) = 0 = A I&dfIsh adT THH B |

AT

Q1 37kl <! Tsh TEAT & 3{ehl I TPHHA 18 8 | I T&AT H ¥ 63 TT
STE, a1 3Tehi o TA Yol Id & | G&IT J1d it |

frfeiiaa amol, T SFeqdta 8 ) a9 | ¢ AR i 31 g0t 8 -

3y (e H)

5-15(15-25 (25-35| 35—-45 |45—-55 |55 -65

Ut <k g 6 11 21 23 14 5

39YTh Yad 3AThgl hl dgcish a1 HILT HTd il |

(a)

(b)

T IR Iq4S ABCD 1 5618 T o1 AD R fog E 389 TR 2 Th
BE, Y51 CD @ F W ied! 8 | g3Ms¢ 6 A ABE ~ A CFB.

HAAAT

A ABC &1 aI¢ AB, BC a1 HIfedshl AD HHI: A PQR 1 ySredl

PQ, QR @1 Tedwl PM & wHEurt 3 | fag Hifm fe
A ABC ~ A PQR.

Teh HIR o e 8 Tk 50 m 3 9aq o TIRgT qAT U o ASTHT hivl SHA:
45° AT 60° & | HHR sl H=m8 A1 I | (/3 = 1-73 TIT HIQ)

Page 16
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This section comprises Long Answer (LA) type questions of 5 marks each.

4x5=20

P.T.O.

32. (a) Find the value of ‘K for which the quadratic equation
(k +1)x2 -2 8k + 1) x + (8k + 1) = 0 has real and equal roots.
OR
(b) A 2-digit number is such that the product of its digits is 18. When
63 is subtracted from the number, the digits interchange their
places. Find the number.

33. The following table shows the ages of the patients admitted in a hospital

during a year :
Age (inyears) |5-15|15-25 |25-35| 35—-45 |45 -55 |55 - 65
Number of 6 11 21 23 14 5
patients
Find the mode and mean of the data given above.
34. (a) Eis a point on the side AD produced of a parallelogram ABCD and
BE intersects CD at F. Show that A ABE ~ A CFB.
OR
(b) Sides AB, BC and the median AD of A ABC are respectively
proportional to sides PQ, QR and the median PM of another
A PQR. Prove that A ABC ~ A PQR.

35. The angles of depression of the top and the bottom of a 50 m high
building from the top of a tower are 45° and 60°, respectively. Find the
height of the tower. (Use V3 =1-73)

14-30/4/2
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59 TS H 3 YK 37eqT STETRT J97 & 1578 Gcdeh & 4 37 & | Ix4=12

TYh{0T HETAT - 1

36. PR <1k gY ATeNTl R FIE Gl <hl TRET &l B | I qY SIS Urer]
giHfead ar 7, 380 fga 9Iver gl o1 Ted ial & 3T 38 @eed o Jfd
STeeh SARAl o T Ueh fawag-a faeheq s4TaT 3 |

——

500 mL ¥ 15 cm x 8 cm x 5 cm TR 3 SHTHIHR Jehe H o § 91 I8 g
% Uohe 30 cm x 32 cm x 15 cm % SITHTHR Hieq (fesd) 0 W 7 |

UG € TS TSR o 3uR R FAfafaa yei & 3w A

(i)  OFTHTRR ieq (fesa) &1 maaa Fra i | 1

(i) (a) U % TH Yohe 1 TYY YBH &FABA H(@ hIT | 2
HAAT

(b)  Th A (feest) W fopa qu o ohe 311 b & ? 2

(i) 3Apld H fe@E MY 9 § fohdH1 U 311 Eha & ? 1

14-30/4/2 Page 18
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SECTION E

This section comprises 3 case study based questions of 4 marks each. 3x4=12
Case Study -1

36. Tamper-proof tetra-packed milk guarantees both freshness and security.
This milk ensures uncompromised quality, preserving the nutritional
values within and making it a reliable choice for health-conscious

individuals.

500 mL milk is packed in a cuboidal container of dimensions
15 cm x 8 cm X 5 cm. These milk packets are then packed in cuboidal

cartons of dimensions 30 cm x 32 cm x 15 cm.

Based on the above given information, answer the following questions :

(1) Find the volume of the cuboidal carton. 1

(i1) (a) Find the total surface area of a milk packet. 2
OR

(b) How many milk packets can be filled in a carton ? 2

(iii)) How much milk can the cup (as shown in the figure) hold ? 1

14-30/4/2 Page 19 P.T.O.
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i

[3:k:54
ThI0T AT - 2

37. WM I BIE W H B qW hl SOHTEE S HaRker 1 forrerdr 9gd 3hNd
Fh off | 98 7o & 7 Siafean s @ wun gEar o | gEtae sud
% YR W 3T Tehe TSHTE 1 Thal T & e | v s feumga =
ﬁZITTIEIT%:

RN

(i) Fdu1 G ! fiam a1t Tergve 1 wed-fag 3 Hife | 1
(i) (a) Togall A 91 C % == <l gt fehall 8 2 2
T

14-30/4/2 Page 20

https://www.evidyarthi.in/



mim
=
[ %4

Case Study - 2

37. Ryan, from a very young age, was fascinated by the twinkling of stars
and the vastness of space. He always dreamt of becoming an astronaut
one day. So he started to sketch his own rocket designs on the graph
sheet. One such design is given below :

L

Based on the above, answer the following questions :

(1) Find the mid-point of the segment joining F and G. 1
(i1) (a) What is the distance between the points A and C ? 2
OR
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(b) Find the coordinates of the point which divides the line
segment joining the points A and B in the ratio 1 : 3
internally.

(iii) What are the coordinates of the point D ?
Case Study -3

38. Treasure Hunt is an exciting and adventurous game where participants
follow a series of clues/mumbers/maps to discover hidden treasures.
Players engage in a thrilling quest, solving puzzles and riddles to unveil

the location of the coveted prize.

While playing a treasure hunt game, some clues (numbers) are hidden in
various spots collectively forming an A.P. If the number on the nt® spot is
20 + 4n, then answer the following questions to help the players in

spotting the clues :
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(1) Which number is on first spot ?

(i1) (a)  Which spot is numbered as 112 ?
OR
(b)  What is the sum of all the numbers on the first 10 spots ?

(iii) Which number is on the (n — 2)th spot ?
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